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Q: 1 Choose the correct answer:
1. An illustration of a verb in the subjunctive mood is:
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2. An illustration of a verb in the indicative mood IS -----=======mmcmmmmemmmm
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3. An illustration of a verb in the jussive mood is -------------===--==------
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4. The sentence ----------------=--=----- contains two verbs in the subjunctive mood.
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5. The sentence ------------=--==-==nm--- contains two verbs in the jussive mood.
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Q: 2 Decide whether the following statements are true or false:

English has three marked moods, while Arabic has two marked moods. False
Arabic mood markers are inflectional. True

The perfect verb is uninflected, while the verb of command is inflected. False
The imperfect verb can never be uninflected. It is always inflected. False

The indicative, subjunctive and jussive moods in Arabic are marked by suffixes.

True
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